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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [[ setVI _ETcl’
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3 0
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M_E

21.

21,

21.

20.

21.

21.

21.

21,

21.

20.

20.

21,

21.
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ERARKG) [ EoeE EH/1k 3]
341 150. 0 ;1% @07:00 Hm1 (R BT kX
341 150. 0 2 @07:55 B &) Gk TE Bee)
341 150. 0 12 @09:10 Ha) Gk s Bes)
341 150. 0 12010:05 B a1 Gk s Bes)
341 150. 0 2 011:00 Ban Gk s Bes)
341 150. 0 R 011:55 Ea) Gk TE Res)
341 150. 0 R 012:50 Ba) Gk s Bee)
341 150. 0 2013:40 Ba) Gk Bes)
341 150. 0 R 014:50 Ba) Gk s Bes)
341 150. 0 18016:30 Ha) Gk TE Bee)

3410.0_(10;%) 1500. 0 W REC: 2080. 0 : 6.




P3_0, Day=51 (2025-05-26)

B f————f————f————f—— ————— — —
¥4 VRV ET - VI, VO, FVI, FVO, FRV, adjFRV, ET - 2000
16
1529
100 A 498 go:(g)zg— 1500
- 1000
50 A
51 - 500
Warning: lcol ['FVI',| "FVO'] missing 185
_ 208T FRV _
B e e T e maxll {575
o
E
= 50 - 22.5
[ ’JMWJ
-20.0
1.0
4
0. 8 A
0.6
0.4
0.2+
Warning: lcol ["WC1',  "WC2'] missing
2800
TargetEC=2600. 0,  TargetSetEC=2080. 0 > ECB*10% [+
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o
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©
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I
o 1 \\\\\‘__~—
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~
: Il —
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E 100 - 1 - 1000
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L 1
| = —— I o L
308‘ 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 -9000
= BE | B | BB | BB | BB | BB |B|B|B|Za] B 5 5 5 5 5 E |Z=|XW| BB |Z=|[Z=| B
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% 200 4 ByWoFv @D53 02:03: ET=1329 Fg=1500.0 Ro=158.0 L 2000
~
: : T S
= I
E 100 ! — - 1000
i I
el I) 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
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0.6
0.4
0.2+
0.0
1500 _ 4
[ ] | _obs
—@— PPFD obs
RH
RH_obs
RHo _obs

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=440, FV0=0 m=490, FV0=0 m=530, FV0=0

21.50 4 =T R 2131 o & 2151 o u&
20.8 - i ]
21 25 - 21.2 21.4
’1 00 21.1 1 21.3
: 20. 6 -
21.0 - 21.2 1
20. 75 4
20 4. 20.9 - 21.1 1
20. 50 4
20. 8 - 21.0 -
20. 25 1 20.2 4 20. 7 4 20.9 -
T T T T T T T T T T T T T
400 600 800 1000 440 445 450 490 495 500 550 555 560
m=615,m FV0=0 m=670,m FV0=0 m=715,m FVO=0 m=765,m FV0=0
2.4 o e 2.4 o e 2.4 o e 21.3{ o e
21.3 - 21.3 - 21.3 - 21.2 -
21.2 1 21.2 1 21.2 1 21.1 A
21.1 1 21.1 - 21.1 - 21.0 -
21.0 - 21.0 - 21.0 - 20.9 -
20.9 - 20.9 - 20.9 - 20.8 -
20.8 - 20.8 - 20.8 - 20.7 -
T T T T T T T T T T T T
615 620 625 670 675 680 715 720 725 765 770 775
m=830,m FV0=0 m=895,m FV0O=0 m=1000m FVO=0 m
211 o & 2.1f o ye 212f o & -
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830 835 840 895 900 905 1000 1005 1010 400 600 800 1000
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23.2 - 23.6 - 237 - 237 -
23.1 23.5 23.6 - 23.6 -
440 445 450 490 495 500 550 555 560 615 620 625
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Bfe [ EmAIK @) | e (=045 e

07: 347 150. 0 00 Hzh (R
07- 347 150. 0 50 Hzh (A&
09: 347 150. 0 B RES:
09: 347 150. 0 55 Ez) (A&
10 347 150. 0 45 Hzh (AR
11 347 150. 0 35 Hzh (A&
12 347 150. 0 25 ) (A&
13 347 150. 0 30 Hzh (A&
14 347 150. 0 25 Hzh (A&
15 347 150. 0 15 Hzh (A&H
16 347 150. 0 ] 15 Hzh (A& H
23F[3751.0 A10R) 1650. 0 2 REC: 2080.0




P3_0, Day=50 (2025-05-25)

150 Fm—————F——————F——————F——————F——————F——————F——————F-—————f——— - f———_—]
VI, VRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1819 290 F 2000
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- 500
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E
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1
0.8
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2800 3
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1.0 - S i — 0
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0.6 -
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cumET (ml/plant)



m=435, FV0=0 m=480, FV0=0 m=525, FV0=0

—o— MEe | 2047 o mE - ME 21.47 _o— ME
21.0
-9 7 20. 3 1 21.3 1
20. 2 20. 8 21.2
20.1 21.1
20. 6
91 20.0 21.0
20. 4
19.9 - 20. 9
19. 8 - 20. 2 20. 8
T T T T T T T T T T T T T
400 600 800 1000 435 440 445 480 485 490 525 530 535
m=580,m FV0=0 m=630,m FV0=0 m=690,m FV0=0 m=725,m FV0=0
A1 o= WE 2157 o g 2167 oy 21.87 o g
21.4
21. 4 21.6
21.3 6
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—e— ME 21.4 1 _@— M_E —o— ME 21.6 11 _g— M_E
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21.0 21.2
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24. 00 -
23.8
23.75 - 23.3 1
23.7
23. 50 - 23.2
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23. 00 - —o—
MW 030 23. 4
1015 1020 1025 400 600 800 1000 435 440 445 480 485 490
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P3

BriE) | GEBIRTIC (FD) | EME (BAH/HK) | XS ERF

07:00 341 150.0 5| 1Ri&e07:00 Bz (KAL)
07:45 341 150. 0 5| 1Ri%e07:45 B CGREMEREE)
08:30 341 150.0 =l {Ri%e08:30 B (KRAERSE)
09:15 341 150.0 =l RRiB009:15 Bah (REAEEE)
10:00 341 150.0 F| {Ri%@10:00 B3 (FAERSE)
10:45 341 150.0 5 {Ri%010:45 Bz (GRAERSE)
11:30 341 150.0 =l RRige11:30 B3 (REAEEE)
12:15 341 150.0 =l Rige12:15 Bzt (REAEEREE)
13:05 341 150.0 F[ BRige13:05 Bz (GREEREESE)
14:00 341 150.0 5| Rike14:00 Bz (REAERS)
14:55 341 150. 0 F BRige14:55 Bz (GRAERESE)
16:00 341 150.0 El 1BRi&e16:00 Bz (GRFAEREE)
=it 4092.0 (12:%) 1800. 0 32 KEC: 2080.0, PH: 6.5

large discrepency for begining water status (446:276.0), set to 446 ml




P3_0, Day=49 (2025-05-24)

150 Fm———moF——————F——————F——————F——————F-—————F-—————Fe—————F——— ===
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m=425, FV0=0 m=480, FV0=0 m=520, FV0=0

2.2 1 _o— M_E —o— ME —8— ME
21.6 - 21.8 -
21.0 -
21. 4 - 21.6 -
20. 8 -
21.2 - 21. 4 -
20. 6 -
21.0 - 21.2 -
T T T T T T T T T T T T T
400 600 800 1000 425 430 435 480 485 490 520 525 530
m=580,m FV0=0 m=630,m FV0=0 m=685,m FV0=0 m=740,m FV0=0
21.81 oy 21.81 o wE 21.8 - o— ne | 261 o e
21.7 - 21.7 21.5 -
21.6 -
21.6 - 21.6 - 21. 4 -
21.5 - 21.5 - 21.3 -
21. 4 -
21. 4 - 21.4 - 21.2 -
21.3 - 21.3 - 21 9 - 21.1 -
21.2 - 21.2 21.0 -
T T T T T T T T T T T T
580 585 590 630 635 640 685 690 695 740 745 750
m=805,m FV0=0 m=925,m FV0=0 m=970,m FV0=0 m=1020m FV0=0
— NE 2081 o wE 211 o wE 2141 o wE
21.4 1 20. 7 21.0 21.3
20. 6 - 20. 9 - 21.2 -
21.2 -
20. 5 - 20. 8 - 21.1
21.0- 20. 4 - 20. 7 - 21.0 -
20. 3 - 20. 6 - 20. 9 -
20. 8 - 20. 2 - 20. 5 - 20. 8 -
805 810 815 925 930 935 970 975 980 1020 1025 1030
m m=425,m FV0=0 m=480,m FV0=0 m=520,m FV0=0
24. 25 - 2361 o muw 2407 _o— mw 24371 _o— MW
24,00 - 23.5 - 239 - 24,2 -
23. 4 - 24.1 -
23.75 23. 8 -
23.3 - 24.0 -
23.2 - 23.9 -
23. 25 )
23.1 - 3.6 1 93,8 -
23.00 °
MW 23.0 - 23.5 - 23.7 -
400 600 800 1000 425 430 435 480 485 490 520 525 530
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—— MW

T
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23. 8
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23.5 -
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23. 3
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T
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T
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m=925,n FV0=0
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T
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23.
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